thg 2el4 BC ¢ 2ol ot
o2,

A’ B C D
\\ ’—‘
O~~._,..-A B C



Zh2of A2 2] H]7E 3 ;2 o] AL Hi A
o] Aol7k 226 31 AAE ABCD
o] =3 9] Aol & F-stoiet.

A




B™~~-8em---~ C

cm



cm

B™~-3/3em--""C




9, CD

AD=15, BC

o
=

&)
m
<
q
T
o
=
D
I
S
N
™

~
—

% P

Pr BEPE
~n <A ,__..mo Wﬂ W_| Wﬂ
X ,wuu_ N Hn_ 17_A.n_ Hn_
T Lo %A NN AT
& o KT W R
IINCEONONGN®)



6. TR I TL olBHALGL RAFHE
Get g o, A G ol A AB of o2k AeE
Fstole




7. T AHA(-3,-2), B(a,-10) Aol A=7L 10 € ©, ¥4 a o] T
Tatofat,

s
=¥



B( , 2)¢t x= 919 A P(a, 0)°]
Tstofat,



il

22!

L D1 ]/\1
413:]0; O]_,_01 ].E_

A U—L]Oq;( o —. Z o E]
11/:!}_ 3 e}

9.

@ 72714
|
@ 607}~

@ 48714
@ 907}A]

® 120714



10.

”1}4“‘ oi#} 3
a5 oozt

s
-

FAA WA 17, o2 17 o) ES B A

71A]

94



11.

ABC U9

oﬂ ool A

P, Q. R 9 Ho
lem? 9 o, AABC ©J| A
2w 7] 2




12.

oh2 1919 AABC A A D, E, F, G &
AB, AC 9 A5BAo|th AADF = 6cm?
2 ), oDEGF ¢} oEBCG 9] Ho]&?

@ oDEGF = 16cm?, oEBCG = 30 cm?
@ oDEGF = 12cm?, oEBCG = 30 cm?
® oODEGF = 18 cm?, nEBCG = 30 cm?
@ oODEGF = 22cm?, oEBCG = 30 cm?

® ODEGF = 12cm?, oEBCG = 35 cm?




13.

O 13 9] A2 ABCD £ 24

o =

l
stof 134 A1 o) Fu] & sfoiat. s
A 2¢ D
\\
Som
~~3cm” C




14.

O Z1H 9] ArElE ABCD & A4l 1
Sto] 1812412 Lrhe] ]
@ 857cm? @ 897 cm?®

® 957 cm? @ 987 cm?®

® 1027 cm?

=50=

-
3cm

cm

Q~~-a--"Og¢

~-5ecm-”



